
4 and 8 times table word problems  
 

1)  A football sticker album costs £7. 

Isaac buys 4 sticker albums. 

How much money does Isaac owe the shopkeeper? 

 

1) A packet of smarties weighs 8g. 

Deepika buys 9 packets of smarties. 

How much do the packets of smarties weigh in total? 

 

2) An octopus has eight legs. 

Layla spots twelve octopuses in the ocean. 

How many legs do all the octopuses have in total? 

 

3) Paul’s garden measures 4 metres. 

John’s garden is ten times bigger than Paul’s garden. 

How big is John’s garden?  

 

4) Lucy owns 8 cuddly toys. 

Stephen’s cuddly toy collection is twenty times greater than 

Lucy’s. 

How many cuddly toys does Stephen own? 

 

5) Peter is delivering boxes of pencil crayons. 

Each box contains 11 pencil crayons. 

Peter delivers 8 boxes to Lily.  

He then delivers 4 boxes to Alfie. 

How many more pencil crayons does Lily have than Alfie? 

 

 


